Steinberger Allen Keys

Guitar inch mm Comment
GL (TT1)

Faceplate 7/64"

Bridge mounting screws 7/64"

Headpiece 3/32"

Ball ends 1/16"

GL (TT2, S-Trem)

Faceplate 7/64"

Bridge mounting screws 7/64"

Headpiece 3/32"

GM/GR

Neck screws 1/8"

Headpiece 3/32"

Truss rod (Moses) 4 mm
GS

Neck screws 1/8"

GP

Neck screws 5/32"

Inner neck screw (strap 3/32"

button)

Headpiece 3/32"

TT1

Saddles height adj. 1/16" 1.5 mm not sure, both may work
Saddle clamping screw 1/16"

Trem arm socket 1/16"

Trem arm friction 1/16"

Master + Tuning knobs 0.05" 1.3 mm both work
TT2/S-Trem

Saddles height adj. 1.5 mm
Saddle clamping screw 1.5 mm
Trem arm socket 1.5 mm
Trem arm friction 1.5 mm

Master + Tuning knobs 1.5 mm




Steinberger Allen Keys

Bass inch mm Comment

L2

Faceplate (front) 5/64" 2 mm both work (loose fit)

Bridge mounting screws 9/64"

Headpiece 9/64"

Saddles height adj. 3/32"

Saddle lock 3/32"

Tuner housing 9/64"

Tuning knobs 0.05" 1.3 mm both work

XL (regular + transit.)

Faceplate (back) 7/64"

Bridge mounting screws 7/64"

Headpiece 7/64"

Leg rest 7/64"

Saddles height adj. 5/64" 2 mm both work (loose fit)

Saddle lock 5/64" 2 mm both work (loose fit)

Tuning knobs 1.5 mm

Strap buttons (pivot pl.) 3/32"

XL Knobs (volume, tone) 1.5 mm Regular model

XL Knobs (volume, tone) 0.05" 1.3 mm Transitional model

Battery cover locking plates |3/32" Do not open! Cover has a
snhapping function, to be
removed with a coin etc.

XM

Neck screws 1/8"

Headpiece 7/64"

Saddles height adj. 5/64" 2 mm both work

Saddle clamping screw 5/64" 2 mm both work

Tuning knobs 1/16" 1.5 mm not sure, both may work

XP

Neck screws

Headpiece

Saddles height adj.

Saddle clamping screw

Tuning knobs

XQ

Neck screws 1/8"

Headpiece 7/64"

Bass TT

Saddles height adj. 5/64" 2 mm both work

Saddle clamping screw 5/64" 2 mm both work

Trem arm socket 1.5 mm like TT2

Trem arm friction 1.5 mm like TT2

Master + Tuning knobs 1.5 mm 1/16" too tight

Master tuning knob 1/16" 1.5 mm too loose

Tuner housing (top) 5/64" 2 mm both work

Transposing arm 5/64" 2 mm both work

Side blocks 3 mm

Pleases send missing information (e.g. XP, XQ) to: info@headless-europe.de




